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Quiz

. How many Americans have measurable hearing

losses?
* 100,000 e 1,000,000 * 10,000,000

. Which of the following can cause hearing loss?

® Disease ® | oud noise ® Physical injury

. True or False... One of the effects of “threshold shift”

is losing the ability to hear sounds at all frequencies?
True False

. You should wear hearing protection if you are exposed

to noise levels that average over how many decibels
in an 8 hour day?
® 65 dB's ® 90 dB’s ® 105 dB’s

. Which type of equipment is generally thought to

provide the best hearing protection?
® Disposable ear plugs ® Canal caps ® Earmuffs

. Surveys show that the average noise level of traffic on a

busy street is:
® 45 dB’s ® 75 dB’s ¢ 95 dB’s

. True or False... Many times hearing loss is temporary,

and will return in a few hours?
True False
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